
PageSection - K5 - 13Form 403375OCT - 2003

Models 85474 & 85475
DRUM COVER ASSEMBLIES

FOR AC ELECTRIC FLOWMASTER™ PUMPS

Model 85474
For use with 85589 FlowMaster™ Electric Pump on 120 Lb. Drum

Model 85475
For use with 85588 FlowMaster™ Electric Pump on 400 Lb. Drum

(Refer to Section C8 Page 300 for information on pumps)

Model 85474
Drum Cover for
120 Lb. Drum

Model 85475
Drum Cover for
400 Lb. Drum



Page Number - 2

Models 85474 & 85475
DRUM COVER ASSEMBLIES
FOR AC ELECTRIC FLOWMASTER™ PUMPS

Form 403375

Model 85474
120 Lb. Drum Cover

1

2

5

6

2

3

4

7
8

9

14

10

11

12

13



Page Number - 3

Models 85474 & 85475
DRUM COVER ASSEMBLIES

FOR AC ELECTRIC FLOWMASTER™ PUMPS

Form 403375

Model 85475
400 Lb. Drum Cover

1

2

2

5

6

3

4

7

8
9

14

15

16

17

18

12

13

11

10



Page Number - 4

Models 85474 & 85475
DRUM COVER ASSEMBLIES
FOR AC ELECTRIC FLOWMASTER™ PUMPS

Form 403375

Item Description Qty. 85474 85475
No. (120 lb.) (400 lb.)
1 Hex Head Screw (5/16-18 x 7/8) 4 50163 50163
2 Washer 8 48536 48536
3 Lockwasher (5/16) 4 66246 66246
4 Hex Nut (5/16-18) 4 51026 51026
5 Hex Head Screw (3/8-16 x 1) 2 50044 50044
6 Angle Bracket 2 272966 272966
7 Washer 2 48468 48468
8 Lockwasher (3/8) 2 66220 66220
9 Hex Nut (3/8-16) 2 51005 51005

10 Drum Cover 1 272962 272964
11 Cover Gasket 1 34694 34691
12 Lockwasher (1/4) 4 66186 66186
13 Hex Head Screw (1/4-20 x 3/4) 4 50169 50169
14 Gasket 1 33152 33152
15 Hex Head Screw (1/4-20 x 1/2) 4 --- 50006
16 Cover Plate 1 --- 271678
17 Gasket 1 --- 33116
18 Hex Lock Nut (1/4-20) 4 --- 51304

PARTS LIST

Americas:
One Lincoln Way

St. Louis, MO  63120-1578
USA

Phone +1.314.679.4200
Fax +1.800.424.5359

Europe/Africa:
Heinrich-Hertz-Str 2-8

D-69183 Walldorf
Germany

Phone +49.6227.33.0
Fax +49.6227.33.259

Asia/Pacific:
25 Int’l Business Park

#01-65 German Centre
Singapore 609916

Phone +65.562.7960
Fax +65.562.9967

© Copyright 2003
Printed in USA

Web site:
www.lincolnindustrial.com


